£280-199N Direct Spark Burner Parts BrReakdown

Water heater parts and control panel parts are listed on their own Parts Finders.

# | Item# Description # | Item# Description

1 17347 | ZipTie, 7.5" UL94V-0 10 | 20090 | Orifice

2 | 20027 | Igniter, Direct, ezFIT PSE-BK1 11| 20100 | Air Deflector w/2 Lock Nuts

3 | 20029 | Ignition Cable 12 | 25010 | Bolt, SLT Hex Washer, 10-24 x 3/4”
4 | 20030 | 90°Elbow, 1/2" MNPT x 1/2" FNPT 13| 25012 | Wing Nut, 10-24

5 | 20035 | Reducer, 3/4” MNPT x 1/2" FNPT 14 | 25087 | Lock Washer, #10

6 | 20041 | Gas Valve, Natural Gas, VR8305P4279 15| 25110 | Screw, Button Head, 10-32 x 1/4”
7 | 20067 | Burner 160M Venturi, 16" 16 | 25120 | Washer, Zinc, 3/16"x 3/4”

8 | 20076 | Flame Spreader, 6” 17 | 25102 | Lock Washer, Zing, 1/4”

9 | 20085 | Orifice Holder

Rev 09-12


https://www.bockwaterheaters.com/lock-washer-zinc-1-4.html
https://www.bockwaterheaters.com/lock-washer-zinc-1-4.html
https://www.bockwaterheaters.com/lock-washer-zinc-1-4.html
https://www.bockwaterheaters.com/washer-zinc-3-16-x-3-4.html
https://www.bockwaterheaters.com/washer-zinc-3-16-x-3-4.html
https://www.bockwaterheaters.com/washer-zinc-3-16-x-3-4.html
https://www.bockwaterheaters.com/screw-button-head-10-32-x-1-4.html
https://www.bockwaterheaters.com/screw-button-head-10-32-x-1-4.html
https://www.bockwaterheaters.com/screw-button-head-10-32-x-1-4.html
https://www.bockwaterheaters.com/lock-washer-10.html
https://www.bockwaterheaters.com/lock-washer-10.html
https://www.bockwaterheaters.com/lock-washer-10.html
https://www.bockwaterheaters.com/wing-nut-10-24.html
https://www.bockwaterheaters.com/wing-nut-10-24.html
https://www.bockwaterheaters.com/wing-nut-10-24.html
https://www.bockwaterheaters.com/bolt-slt-hex-washer-10-24-x-3-4.html
https://www.bockwaterheaters.com/bolt-slt-hex-washer-10-24-x-3-4.html
https://www.bockwaterheaters.com/bolt-slt-hex-washer-10-24-x-3-4.html
https://www.bockwaterheaters.com/air-deflector-w-2-lock-nuts.html
http://ebiz.bockwaterheaters.com/Store/tabid/86/txtSearch/20100/List/1/productid/1666/Default.aspx
http://ebiz.bockwaterheaters.com/Store/tabid/86/txtSearch/20100/List/1/productid/1666/Default.aspx
https://www.bockwaterheaters.com/air-deflector-w-2-lock-nuts.html
https://www.bockwaterheaters.com/air-deflector-w-2-lock-nuts.html
https://www.bockwaterheaters.com/orifice.html
http://ebiz.bockwaterheaters.com/Store/tabid/86/txtSearch/20090/List/1/productid/645/Default.aspx
http://ebiz.bockwaterheaters.com/Store/tabid/86/txtSearch/20090/List/1/productid/645/Default.aspx
https://www.bockwaterheaters.com/orifice-holder.html
https://www.bockwaterheaters.com/orifice.html
https://www.bockwaterheaters.com/orifice.html
https://www.bockwaterheaters.com/6-flame-spreader.html
https://www.bockwaterheaters.com/6-flame-spreader.html
https://www.bockwaterheaters.com/6-flame-spreader.html
http://ebiz.bockwaterheaters.com/Store/tabid/86/txtSearch/20076/List/1/productid/643/Default.aspx
https://www.bockwaterheaters.com/16-burner-venturi-tube.html
https://www.bockwaterheaters.com/16-burner-venturi-tube.html
https://www.bockwaterheaters.com/16-burner-venturi-tube.html
https://www.bockwaterheaters.com/16-burner-venturi-tube.html
https://www.bockwaterheaters.com/16-burner-venturi-tube.html
https://www.bockwaterheaters.com/16-burner-venturi-tube.html
https://www.bockwaterheaters.com/gas-valve-20041.html
https://www.bockwaterheaters.com/gas-valve-20041.html
https://www.bockwaterheaters.com/gas-valve-20041.html
https://www.bockwaterheaters.com/env-assembly.html
https://www.bockwaterheaters.com/env-assembly.html
https://www.bockwaterheaters.com/env-assembly.html
https://www.bockwaterheaters.com/90-elbow.html
https://www.bockwaterheaters.com/90-elbow.html
https://www.bockwaterheaters.com/90-elbow.html
https://www.bockwaterheaters.com/ignition-cable.html
https://www.bockwaterheaters.com/ignition-cable.html
https://www.bockwaterheaters.com/ignition-cable.html
https://www.bockwaterheaters.com/igniter-direct-ezfit.html
https://www.bockwaterheaters.com/igniter-direct-ezfit.html
https://www.bockwaterheaters.com/igniter-direct-ezfit.html
https://www.bockwaterheaters.com/contact-bock.html
https://www.bockwaterheaters.com/contact-bock.html
https://www.bockwaterheaters.com/contact-bock.html



